A & R @ =

£ A = SN2 5 A 21 B FHI08F40%

A # & PR FLALBTIRIBAIT 20 201238

I £ & 5 #-12

I %= 4 BT 8 /MR SRt 2B R E R EHE TS

I %= &5 #CALET NG A

FE i A& (BR) 6,355,800 F  AsZmmmfds @ik 5 778,000 M

B 16 I R i 4% (B 2) 5,687,000 M  Axswsids @E# 5 170,000 M

FREE (HBA) 5,687,000 H HE&EEHE (Hiik) 9,170,000 M
*EA A ® & ®HE &

#ER AR ,170,000( (<L) &ALRTE

fFEER #HAzw ,170,000| (<L)

NimEsk #HA=H ,170,000| (<L)

rAst BHIX , 170, 000( (<L)

=REH HAsu , 170, 000( (<L)

5
5
5
rASt MHEH 5,170,000 (<L)
5
5
5

BR=#  fhEIZEER , 170,000 (<L)

EEEAFLERICI00DI0IZHE T 2R ME L -REN LTS EHRE £
DEHAA IR DMEETH D,




